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o EHARE
ENEE FMAEGHE (1888) MAEBE (28818 ) | FIAEAE (3FAHE)
EZ7E 1 782 / H 1,563 A / A 2,345@ / B
EhE2 857/ H 1,714 M / B 2571 M / H
ENE3 941 M/ H 1,881 / A 2,821 @/ B
ENE4 1,0198 / A 2,038/ /A 3,057 @ /A
ENES 1,096 M@ / B 2191/ /A 3,287/ A
EXE1 588 @ / A 1,1750 / A 1,762 8 / A
BEXE?2 7291 / H 1,457 / B 2,185M / H
o EMRE
BERESE rE BEE
MAEEBRERE 18RME 300M / H 880 M / H
FRAEEERESE 28K 600 [ / A 880 A / H
FRAEEERESE 3BEO 1,000 / A 1,370 @ / B
FAEEERESE 3BKEO 1,300 / A 1,370 / A
MAERERER 48K 1,800 M / H 2,400 @ / B
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XToft, BRAR BRAFERNCEBANIRETZIEDONHYET.




BeERBEZ (%)

MAEEHE (15848)

MAEEE (25848)

FEEaE (3588 )

ENE1 | F2RE 2,300 @ - -
EIBEO 3,200 @ 3,950 [ -
EIEBEO 3,500 M 4,250 [ 5,050 M

58 4 ExPE 5,000 5,800 M 6,550 M

ENE2 | F28BE 2,350 @ 3,200 @ -
EIBEO 3,250 @ 4,100 /9 -
%3 B 3,550 @ 4,400 9 5,250 @

58 4 BB 5,100 @ 5,950 [ 6,800 @

ENE3 | F2BKE 2,450 @ - -
53 BREO 3,350 @ 4,300 [ -

B 3IBRO 3,650 @ 4,600 5,500 A
54 B 5,150 @ 6,100 A 7,050 @

ENE4 | B2BKE 2,500 M - -
%3 BRO 3,400 @ 4,450 M -
E3IBRO 3,700 @ 4,750 M 5,750 A

54 B 5,250 @ 6,250 A 7,300 @

ENES | F2BKE 2,600 @ - -
53 BRO 3,500 M 4,600 -

B 3IBRO 3,800 M 4,900 M 6,000 A
58 4 BB 5,300 M 6,400 A 7,500 A

BEXE1 | E2BRE 2,100 @ - -
53 BREO 3,000 @ 3,550 @ -

B 3IBRO 3,300 @ 3,850 @ 4,450 M
4 BRR 4,800 [ 5,400 A 6,000 A
EXE2 | F2BE 2,250 M - -
53 BREO 3,100 @ 3,850 @ -
% 3IBRRO 3,400 M@ 4,150 [ 4,900 A
58 4 BRp 4,950 [ 5,700 A 6,400 A
XMEEECHV., ARSI BMNELET,
—1- - y 9 == <#




